Batters Name

CRICKET

Pairs Cricket Score Sheet

Team 1:

Verses Team 2:

Date:

Toss Won by:

HOW TO FIND THE WINNER:

. . The score should record the total
First Partnership Bowler: Bowler: Bowler: T |Bowler: Bowler: fins  and ke total wickels
1) (dismissals) for each batting

partnership. At the end of the innings
2) scorers then add up all the
1st Partnership Total partnerships and then add up the
number of wickets they took from the
econd Pa e P Bowler: Bowler: Bowler: T |Bowler: Bowler: other team x3 and add that to the
1 total runs scored.
)
2)
2nd Partnership Total Total TEAM 1 runs scored
d Partne p Bowler: Bowler: Bowler: T |Bowler: Bowler: TEAM 2 wickets lost
1) X3
2) (add to total Team 1 runs)
3rd Partnership Total TOTAL TEAM 1 RUNS
0 Pa € p Bowler: Bowler: Bowler: T |Bowler: Bowler:
1)
Total TEAM 2 runs scored
2)
4th Partnership Total TEAM 1 wickets lost
p Bowler: Bowler: Bowler: T |Bowler: Bowler: A2
1) (add to total Team 2 runs)
2) TOTAL TEAM 2 RUNS
5th Partnership Total
TOTAL RUNS SCORED: TOTAL WICKETS: WINNER:




